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1. GENERAL MENTAL ABILITY TEST
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(Questions 1-5) @%ﬁ@a 1-5)

Directions : Complete the givenanalogy  zpuiE3ns @ 20u0m Zo3ReodRLoT
by selecting the correct answers fromthe o (53— m@’g’a‘a’o 502 ZIAT
2o Q

I ives.
alternatives ARBONT), BROFRALA.

. can.
1.13:61::2:213 4 ADGJ:FHJL::ZCFI1:?

32 1) KIGE
2) EGKI

3) 39

o 3) EGIK
4 MJGD

. . .9

2.8:32::27: 5WUSQDFHUJ:2:NPRT

1) 36

> o 1) GIKM
2) YWUS

3) 189

o o1 3) TRPN
4 MKIG
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(Questions 6 - 8) ([3;nss 6 — 8)

Directions : Complete the figuralanalogy,  zauEsnsy : 2ReoHs ZosToe ODRLOT

by choosing the figures from the given  _ S ene _

aiternatives. ROC3WT WINTD, BOR, TINT HIZO
WINT, TRLFTIRVA.

6. (MDD B B
SN oC oI
@A M XA XD
T EE S eE
CAXBEY bXBY CdXBY  CdXBY

1) 2) 3) 4)

" X%X . /.. o 3

_[l%
-
7
-

—_
~
N
~
wW
-
LN
~

== :—l

i IL

—
o —

L
&EI@

=N



GMAT(K-10)

(Questions 9-10)

Directions: Choose and substitute the
correct set of signs/signs and number in
place of * sequentially, selecting from the
given alternatives to make the equations
meaningful.

9.10*10*10*100*10

1) +, = +, +
2) X, =, =, +
3) X, +, =, X
4) =, X, +, +

(Questions 11 -12)

Directions: In the given equations find
which of the following interchange of signs/
numbers would make the equations
correct.

11.9+7 x 1
1

=5-3

H

N
N N N N

X

w
+ X +
I

SN

(Question 13)

Directions: When the signs are changed
as shown below, which one of the following
equations is correct ?

@%ﬁe}o 9 — 10)

BRWNNE @ FRTOE  HAEFTRB|I),
COTIE TURERF ma%@o &@@3&5 oIoRI a%é/
WD, DB NO@jmf mwm * mﬁd@
fj)as’oa—oﬂ eﬁcfeérdas"‘ea’o ebowoc':fa)’ool
TOJRFORNPOT DA

10. 48 - *=12*4

1) 6,—

2) 8

3) 12 +
4) 16, x
@3ns 11 - 12)
TRWRND :%raégdm AQ0eFTEONYY 03503
?,3&ﬁolr\’%fo/75033237\’%9’63’001 WY WT
DIOBTON TeNCTT D ﬁ@odmﬂdo%d
ebomcsmo1 TOWRLBCWD.

12. 30 + 5+10=6x 3

1) 10,5
2) 6, 10
3) 5
4) 5

(33, 13)

ARURAH © FUK SECOATHDT  0e30HY
BBAT, WTORTN IEYDT 050D
T aegce0my) BOOSPATHIS 2

—to+ - &, + A

+to X +§3&><r§

X 10 + 13. 1) 40+ 5 + 45x 15— 25 X, +

=+ to = + . =R
2) 40 - 5+45x15-25 o8

4

)
3) 40 X 545 + 15 + 25
) 40 +5—45 X 15 + 25



GMAT(K-10) RO

(Questions 14 - 15) ([3;nss 14 — 15)
Directions: Find the set of figures which TRE3RY & BYR BRI B3N
ed -

have the similar characteristics choosing =2
RELTWOBHZT TRDBRINTN,G 283ne
from the given alternatives. e Jm"“i =
MW T, TOIWFOINLPOW ©OA

FOTH RO,

14, |: ] m

A B c D E
1) DandC 1) Dav=ay C
2) EandA 2) Ex0® A
3) BandE 3) BaXa E
4) AandB 4) A B

1) AandB 1) A B
5 Dandc 9 B ¢
4) Eand A 3) D C

4) EaHa A
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(Questions 16 —20) (I3;nss 16 — 20)

Directions: In the given questionsthere =~ FRVINF @ & TINT TINTQ
TB03ROTTYOIR FOBMFO/BEReR
ﬁogjéﬁ%/ @ﬁdmf MOTONG SPIOM
_ o . rOOTONTIM, TR, BPYNTY R 2.0
are alike and one is different. Find the one 8303 ﬁowoc‘ssm& draoadagd. 0,00

are four groups of numbers/pairs of
numbers/groups of letters of which three

which is different. 0T PBINT. YIFTNPTR, THTEA.
19. 1) 22,56
16. 1) 2056 2) 30,48
203240 3) 44,34
3)4084 4) 52,28
41404

20. ) NY M P H

17.1) 216 5 22 HYDRA
2)3478 3)PYRUS
34397 4 LYRIC
45296
18. 1) 4,32
2) 6,112 (FBR 21 — 25)
3) 8,256 BRUERNYL @ IIR FRLYOOS BINYY
4) 10,500 RRWS WYINE0D BT ENT ﬁo&jéodam&

(Questions 21 - 25) BODLRID, YITI, THHEA.

Directions: Identify the number of
specified geometric shapes in the given

diagram and mark the correct answer. 1) 2
2) 20
21. How many Squares are there in the 2; 12

given figure ?

BRRJR ea#e)éod)es caa‘g e30Tvel ?
&3 o
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22. How many Rectangles are there in
the given figure ?
TN FTRTIT €T 30309 Xy,
BORINVE ?

13
14
15
17

N
N N N N

23. How many Parallelograms are there
in the given figure ?

7N #Jaégsc’aa’ eﬁ@éos’o@, aﬁgs
DRRTVOST L3P WNRO ?

\ \ 1) 18
——
4) 24
\/_ N
NN AN

24. How many Semicircles are there
in the given figure ?
IR FRLITOT ©TI0NQY I,
@z‘s?:&)gﬁ@w" ?

25. How many Triangles are there in
the given figure ?
3R BRLITH &f%éomg DT,
SDRAPSR ?
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(Questions 26 —28)

Directions: Complete the following
number series by choosing the correct
number from the given choices.

(IBnsd> 26 — 28)

BRWRNAL @ BRWTH  TOITPF ODRVOT
J00330T ﬁo&%ﬁ@mol =0, NI ﬁomZS
BeedNYR, TRFTIRDA.

26. 3,27,75,147,7?,363

1) 207
2) 216
3) 231
4) 243

27. 337,211,121,?,25,7

1) 41
2) 61
3) 71
4) 81

28. 240,211,184,7, 2,115

1) 159,136
2) 157,135
3) 155,133
4) 153,132
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(Questions 29 — 31)

Directions: Complete the figural series,
choosing the correct figure from the given
alternatives.

29.

(I s 29 - 31)
AR | BRLTHT TOSHEODRLOT
RO0IRT T, BOL SIINY Feednvay,

TRRE DDA

3) 4

?

)
)

3) 4
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(Questions 32 - 35) ([3;nss 32 — 35)

Directions: Match the numbers in  zao3ray © mos — | 3O Rosgivms,
Column — | with the rules in Column —Il. ioaj—lld@)s Y T

Column —1| Column -1l
B0z — | gog — |l
1) 30 a) n° +n/2
2) 63 b) 3n°+3
3) 66 c) n®+4
4) 110 d) n®—2n
5) 127 e) n>-3n
f) 2n?—1

32. Which rule the number 30 follows ?  34. Which rule the number 66 follows ?

1033, 30 3593 AOPTZD 1083, 66 O30T ACNTT
) ) d ]

O TOTITS ? ORIBOXIE ?

1) b 1) d

2) C 2) f

3) d 3) a

4) e 4) b

33. Which rule the number 63 follows ? 39 ngich number follows the rule

(n°-=3n) ?

Fos3, 63 CIRT DCHIHIY

T3S 2 3 mogdeds AR (nd — 3n)

- =, WNZODIT ?

1) C 01 ar)

2) d 1) 127

3) e 2) 110

4) f 3) 66
4) 63

1
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(Questions 36 — 39)

Directions: In the questions below the
numbers in the figures are related. Identify
their relationship and find the missing
numbers in the given figures.

(Z3 s 36 — 39)

BRWIND 1 88 IIN BRWWR JINTY,
3 SNYYTO® 50@52371% JRODTOZ
RORIOTITIY, RRWAITT. 88 RO 0TI,
OLEX WYY 20E) BN ﬁo&%ﬁ%ﬂm&

36. 1

FOT&LBCND.
4

®

9 6 8 4

1) 6

2) 9

3) 10 37.

4) 11 4 12 4 8
9 3 10 5
9 ? 8 5
8 6 10 16
1) 14
2) 12
3) 1
4) 6

12
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38.

39.

226

37

135

74

11

1) 8,138
) 7,108
3) 6,46
) 5,18

1) 28,30
) 24,32
3) 20,35
) 16,48

13
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40. A Scout group walked 1 km towards
south from their tent and reached a
hill. They continued their hike 2 kms
in the East direction to reach a
church. Again they walked 1 km in
the Southeast direction and reached
a temple. Which one of the following
figures shows the route walked by
Scouts ?

I

1) 2)

(Questions 41 - 42)
Kareem travels 4 kms towards North on

his bike from his house and reaches point
A. Then travels 5 km towards East and
reaches point B. From B he travels 4 km
in North direction to reach point C. From
C he travels 5 kms in the west direction
to reach the mosque.

41. How far is Kareem’s house from the

Mosque ?
1) 8 kms
2) 9 kms
3) 13 kms
4) 18 kms

42. In which direction is the Mosque

from the Kareem’s house ?
1) South

2) Southeast
3) North

4) Northeast

40. 2,0%H %wwmsm 35:
dcdo:)aod ams 1 %SM 3B
2O aﬁé&dﬁ: g@aﬁ:mzﬁ OlJlelat
Oinie mwraa&s@ 2 &,
SABT> WO zéaae?sa SIS,
TN R e-sﬁcoﬁ: a%ﬁ@ 1 820¢.
NBT>  LOW™ dcm@oﬁawm
SeoTHTE. S 48R N U

T 5@:3 TETR, BRWETZTH?

3) 4

(@ZInss M1 - 42)

3O BT, RI0NO0T 4 8.60€. em:idéé
33, 236956') BOR ORI, BLOTTVS.
u% w@di—‘@%ﬁ@ 5 3. ome wOSRséN
WOREY, SLTTE. B'ROT GoI
Q3R 4 %éboe wofmsé’if% "2°0DI,
émw:«a—os ‘9’ oNOT 5 8.50¢. wémd

eTat @.)OSTGEESN ?smecsofnm 3mm@§

41. BOCTR TN DACAWOT St
BRITOA 2
1) 83.Q0¢.
2) 98.20¢.
3) 138.20¢.
4) 188.20¢.

42. TOCTHT IR THACH O3N
a%ﬁe}ﬁcﬁ ?

—

14
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(Questions 43 —45)

Directions: Find the correct mirror
images for the following problem figures
choosing from the alternatives.

(I s 43 — 45)

2SR 1 RYNT By, WINH

ROIPT TESOWTJR), TOITE ODNYOT

FOTORCNO.

43.

e>0o[oXe
o Xe|oXe

e >X0|oXe| [@X0joXe e XoloXe
e 0|0 Xe| (0Xe|exX0 ®Xo(ex0

1) 2) 3) 4)

oxeloXe

1) 2)

5. KQH L\

KOWVY /7 XOWY /7 XOHY 7 XQWTUT 7/
1) 2) 3) 4)

15
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(Questions 46 —47)

46.

47.

Rajan and Kamala lives with their
two daughters and three sons along
with their families. Each of the sons
have one daughter and two sons.
Each of the daughters have two
daughters only. Find the female
members in the family.

1) 10

2) 1
3) 12
4) 13

A and B are brothers. C and D are
sisters. A’s son is D’s brother. How
is Brelatedto C ?

1) Uncle

2) Brother

3) Father

4) Grandfather

16

&

3R 46 — 47)

46. TO%ST ms; T 3:» eawdo

47.

%m me;a SoNnR ma zzs
ﬁozsa mw DedownsrodN
mmpaad TS Mo SbnINe
%) som?a s:s: fawda now:
wawa levicrlel wa ém wa%e?ﬁ
"’.%oireuam fawda ém w:wo
ms fadoaad &wowd@&s
a.,ésa waooesra zﬁ*’d oaﬁoﬁaﬁo
%ocsa%o@oboa.
1) 10
2) 1
3) 12
4) 13
‘a’ 8 W TReewTT. R’
é.recasaoﬁd: ‘D o =i
*mews Somwd ‘2’ R ‘W’
BOWOTTRMTIN?

¥ B
‘R
o3
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(Questions 48 —51)

Directions: The following questions are
based on the letters arranged in the form
of a pyramid. Study the pattern and find
the missing set of letters in the analogy/
letter series.

@%m?o 48 — 51)

BRUWRN : IR 3LTVE JJNW
QTNT $FOTY ¥ReBATOB @gpm
MOTI), BTORT. B3 BRCTBRONI),
NV, %@@gpad mmééoda@) / @idﬁ%ﬂ
BeedneQ WD BRENTOB WITN
MOOTIY, FOTLRERO.

A
B|C|D
E|F|G|H|I
JIK|IL|M|N}|O|P
QIR|S|T|U|V|W|X]Y
Z| A|BlC|D|E|F|G|H]|I |J
KIL|MNJOJP|QIRIS|T|U |V |W
48.EJQZ:FKRA:HMTC:? 95 KSRQLTSR ?2NVUT,

1)GLSB oOwVvu
2)GNWH )P X WYV
3)INUD 2’MUEF
H1PYJ 3y OWXY

HMUTS

49.JRBAC:LTDCE::

2:PXHGI 5. ABCDG, CFGHM?,
1))MUEPR MTUVE, UDEFAQ
2NV FEG 1)GLMNU
3yOWGFH 2)GNMUL
4 KSCBD 3y GMLMU

4 GULNM

17
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(Questions 52 — 53)

Directions: The following intersecting
circles represents a group of 70 actors,
who act in Cinema, Serial and Drama.
Study the intersecting circles and answer
the given questions

Cinema
Actors

ARSI
JID

52. How many are Cinema and Serial

Actors only ?

DT, BT ANTP DIy 3THITH TR
S0, NS ?

1) 20

w N

) 15
) 10
) 5

SN

(Question 54)
54. In a college 60 students play

football, volley ball and basket ball.
Among them totally 25 students play
only two games. Totally 24 students
play only one game. How many
students play all the three games ?

1) 11
2

W

) 20
) 35
) 49

(Z3nsd 52 — 53)

BRUWIA : 88 FTINT GeLDB B[INW
ANEID, STIT WBY DWINYY TLIR
70 IO, ARWAESTH. 85 FeLRB
BIBATD), NBOIA BRWDTIE TIJ NN

Drama Sow3s®
Actors Ze3dh

53. Totally how many are serial actors ?

2,83 T R ITHIBeH J3h ¥ ?
1) 40
2) 35
) 30
) 25

W

(3B, 54)

54. 2.0 To3els 60 am@?n’%
TS, TORST sasa m,\g&s@
WO 3T3T. ®ZTY zeésa 25
N T Zemo ooe wuReR:
@zzamd SonR 283y 24 améa?ﬁeéo
203 2,00 emm‘i &sa’omé’
Somend aﬁ% amst;s?mfo SRT

@ésﬁeésool a—szﬁaagé?

18
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(Questions 55 —-57)

(T3,

55.

56.

57.

nes 55 — 57)

In a code A =26, .... Z =1 and
DENT = 65. Find the Code for LOTUS

WOTH X0OFIT TT
A=26,....Z=153 DENT =65.
LOTUS & mode3mmy, 50m&Rou0.
1) 87

2) 68
3) 57
4) 48

In a code if J = 17 and DOG = 47,
then MICE can be coded as

20T BoECST Jges J = 17 31
DOG = 47. MICE &, &er
BOFCSTNTOT

1) 30

N

) 45
3) 58
4) 65

Inacode LD =48 and SD =76, then
the Code for BET is

%0 BoFe3W TFT LD = 48 =8y
SD =76. =58 BET & modesSs)

(Questions 58 — 59)

(Z3 < 58 — 59)

Directions: Find the missing letters in the
given matrix as given in the Questions
below.

BRWIND | FRWIRT B[BWIINYY 2D
BRENTIE ©ITNII), YN BREITOH
TINON OTVROTION FOBIEROND.

B ? X I 41

? A ? 24

? ? D 21
= —

13 25 48 ?

58. Find the missing letter in the first
row.
SRTOVH RORY (ALt BRCATLS
WFTIR, FORELROWD.
1) O
2) P
3) S
4) U

59. Find the missing letters in the

First Column.

SRTOND FoPTY e SRCATHT
wgdﬁe‘?ﬁo& FOTROWD.

1)L, N

N
O

w
0O

I
, H
M

SN

)
)
)

19
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(Questions 60 —62) @%ﬁ@o 60 — 62)
Directions: Find the missing part of the BRWIRD ¢ BRI @g@@m@ 2983)
. . . d ™ &
given figure from the alternatives VRNV TR GPNRT, VO CHRYOT
BOT&LEBOND.

K NN

) 4)

CH oy oy ox o

62.

2N

24

AN
\
AN
-
~
N
/

2) 3) 4)

20
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(Questions 63 —65)
Directions: Find the missing number in
the given matrices

63. 3 4 36
2 8 64
116 ?

1

N

o=
&RES

SN

64. 7 6 5

3 4 2
147 144 175
1) 8
2) 7
3) 6
4) 5

(Questions 66 — 67)
Directions: Find the wrong number in the
given series

66. 9,11, 20, 31, 53, 82
1) 20
2) 31
3) 53
) 82

SN

21

g%ﬁeéo 63 — 65)
DRWIND %@%&d mgjrﬁ@;@) Q)
BRENTVZ 309523 FOT&EBONO.

65. 4 11 25
7 17 ?
11 25 53

1) 37
2) 31
3) 27
4) 21

@%ﬁ@o 66 — 67)
DRWING : %@%&d @es@oﬁs@ 3@}3
xogﬁéojamol FOTVEEBONO.

67. 480, 480, 240, 80, 20, 5
1) 240

2) 80

2

5

w

)
) 20
)

SN
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(Questions 68 —71)

Directions: The words are given under
column — I. Their codes are given under
column — |l without following the same
order as in column —|. Find the codes for
the letters of words in column — | and find
the codes for the given words in the
questions.

Col. : 1
Hoys — |

DIM
PAID
MALE
PROOF
ANGER
FEAST
GRAPE
STRONG

68. DRAFT
1)scxed
2)edscx
3y xsdce
4)

69.

22

(Z3 s 68 — 71)

BRWIND 1 FOPZ - | T YN JITNYR,
BRL3E. B8 ITNY Fodesnvdd, Fog - I 3
TYN BT, B8 BOFEIND IJTNEYT
WFONON TN, HOL - | TYTS
BINY HIONR FOFETT/I), FOW R
TINYY BRWTB TTNON FOTESTZ,
MEA.

71.
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(Question 72) (B3, 72)
Directions: Two positions of dice are TRURBR 1 2.0 TYE DT WINIR,
@

521 ho botiom. which side s at he top 7 =, ¥97 SRCOA5. 6 sbepiiog sy
| P sumncgmn deonsd omsS @D

wdagd.
[ ] ® ®
72 e\ ® o . °
[ ] [ ] ® ® ®
® o i ° [ ] ®
¢ o e o
1) 2) 3) 4)
(3, 73)

(Question 73) > B
Directions: When the given figure is TRWINL 1 LT I, Feg2obY

folded into a cube, choose the correct set @IBATON 20 TIX 530’0@; TJRDNT

of opposite faces of the cube. ziroe@ri%?abol FOTDEBCAD.
73.
F
1) F,B; E,C; D,A
E D 2) F,C; E,B; D,A
ClB 3) F,D; E,C; D,B
4) F,C; E,A; D,B
A

23
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(Question 74)

Directions: When the problem figure is
folded into a cube, which of the following
cubes will be formed ?

74. 1
34
6
1) land Il only
2) Il and Il only
3) land IV only
4) 1l and IV only

(Questions 75 - 76)

Directions: Geetha is 2 years older than
Seetha. Seetha is 3 years older than
Deepthi. Shankar is one year older than
Deepthi.

75. Who is the youngest among all ?
1) Geetha

2) Shankar

3) Seetha

4) Deepthi

76. If the age of Deepthi is 6 years, then

what is the age of Geetha ?
1) 17 yrs.

2) 13 yrs.

3) 11 yrs.

4) 8 yrs.

(3, 74)
RRWIN @ TWRYTIO® TI9,WT WY,
Foog 2oRg RITNR FYNT 03P

TINLD TS ?

BB

1) 152 Il 323
2) Il 3 Il =03
3) 1303y IV 528
4) 11303y IV 528

@%ﬁ@o 75 -76)

TRWBRNY : N3 ACBPN0T 2 IRF
d@%w@a. REBH DewNoT 3 JRF
BRTFR[L. F0TTI DENOT 20T BRE

75. ¥=TY @%os asg SODRATZD I ?
1) Ae3
2) 3030

3

53]
-0

w

)
)
)

N
O

76. DEJODH TODE 6 IREFNRTITT,
ness JoHA| ?
1) 17 IREND
2) 133REND
3) 11 3IREND
4) 8 JIREN

24
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(Questions 77 —78)

Directions: In the following questions a
problemfigureis given. The problem figure
is hidden in one of the figures given as
alternatives. Find the figure in which the
problem figure is hidden.

Problem Figures

77.
Problem Figure 1)
Too, a3
78.
Problem Figure 1)
Tz, 838

(Z3 s 77 - 78)

BRWRA 1 85 YN IR TJNRYY
200 TTY, WSV, IRWH. T T,
B8y TOF OB WINYY BT 2,00
2833Q W@ENG. 0300w JO3E 0D B¥BTY
DT OBNT DOLOTZ, FOWLRENO.

T, W

080

2) 3) 4)

25
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(Questions 79 — 80)
Directions: Fill in the missing numbers
in the following pattern of numbers

4 3 8 5 4
79. 3 56 12 4 2 4
12 3 4[?2]3 456
421116 27
57 9 4 2
1) 10
2) 13
3) 14
4) 16

(Z3n<d 79 - 80)

BRUINL B3 FTYN BRLITO ﬁogﬁéﬁ@ﬁ
BPTOODNY  WENTHENTOTI xogﬁsﬁ@m&
FOTIHLROND.

3 1 4 2/1 12 2
2 116 1 2 4
1 4 10 5 2
1) 12
2) 16
3) 20
4) 24
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(Questions 81 —82) @%ﬁ% 81 — 82)

Directions: In the following questions  z5:3ney © =3 297 o0 BIRID,

a two figure are given as problem figure. - , -
TIOWTNTON TRH. 8 BINTY

Find which of the following alternative
figures would be formed, if the first figure SRTOTOD asgdﬁa&, PTFHCD 23 whedS

is superimposed on the second figure. ROCIRA BET, BRLITT Todee 0DNYY
SHROBMT IR, FOTEELRND.
Problem Figures Io, WA
81.

D
Y
-
v
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(Questions 83 - 84) @%ﬁ%ﬁo 83 — 84)

Directions : Answerthefollowingquestions = &233Res « 85 39 2800 RTINS

based on the sequence of number given 20a3R% 53T 35663 %?a@:%dag SRR

below. 3 ‘ w =<
QVSOR.

25843776259668752948625442

83. Inthegivensequencehowmanytimes 83. 35 &, gow 3¢ £303 9 523 00

an even number has come between Tom0a3.0%0, 3% Tosd. I TeH
an odd and an even number ? sosﬁéﬁeésawad o0l 2

1) 12 1) 12

2 1 2) 11

3 10 3) 10

4) 9 4) 9

32115642893911482429339424

84. In the given sequence how many 84. 384THE JeedodQ oY, o0

times a number is the square root 5095;505:; 354 YeIAL 50336033
of the previous number ? ;n;m@mnagﬁy

1) 6 1) 6

2) 7 2) 7

3) 8 3) 8

4) 9 4) 9
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(Question 85) (33, 85)

85. IfallBand C belongto Aand allC g5 @@O B @) Crio Art £600 w3 e
belongs to B. Some A and B are part C mm BR 0% C SN a%sa A
of D, but not C. Which one of the

) . méaBmﬂN@mﬁDﬁm@d é%%@?r”\
following Venn diagrams represents '&@&d}d oﬁmd S 2339 A B, Coa

. . ?
the relationship of A, B, Cand D 7 D ﬁ@ﬂdm RoLWOFI, RS 9

1) 1

1 2 2) 2 3 4
3) 3
4) 4

(Question 86) (3, 86)

86. Consider the following data : 86. B3 2UNT m%oéoﬁao AT
In a degree class 100 students study WOTH JTR 3571303;@ 100
sciencesubjects Among them ARBPERD R N 033553
< 20students study Physics. o 0335 mcsamd =3Q
< 30students study Chemistry. o 20 é)m@s-—mfo P30 Na:n
< 20students study Biology. e ij SRETG. = 2
< 10 students study both Physics % 30 é)m BETED d—oojgg%Ngm

and Chemistry. o ij SRR,
% 15 students study both
Chemistry and Bio);ogy. 20 amégﬁ% md%ﬁdm
Which one of the following Venn eﬁdo‘%m mcéa@cﬁ
diagrams represents the relation in « 10 é)m@?mfo ﬁém” SoNR
the data given ? d—oojmmfm%ﬁm @dodm
mceb@od
% 15 @m@rmﬂo SHOODTITOE
| TOnR aﬁmmﬂ)ﬁ%ﬁa’n @doﬁs
SRHG.
35 $9NT o B 83D
A ERLDT BREHSOHT, ARWHIS 7
1) A
S
3) C
C D 4) D
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(Questions 87 — 88)

Directions: In which one of the following
alternatives all the given components in
the problem figure are found ?

(ZZniso 87 — 88)
BRWRNY @ 00w WO o WITY
T, WIRQ BRI LR RN B ?

87.

88.
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(Questions 89 —90)

Directions: A square shaped sheet of
paper is folded in the given sequence of
A, B, C as shown in the figure. Then holes
are made in particular positions.

The given problem figure shows how the
paper appears when it is unfolded.
Which one of the following alternative
figures shows the position of punch made
after folding ?

(Z3nsd 89 — 90)

TRWRN : WO B3PF0TTT  TONWTD
m%godomol 3=vzon A, B, C 28¥gn¥d
30e0ATNTWOE PVRAT. TOTT WTTYH
DOF [T %@wg SOBNT, ORT.
TIORIBR) TOYORT, WRATON e
zmsézbgd ebomcso“’mol 3RCORET.
BREITT TOIWEODNYY 03RT BTH)
m%?ojamol TORATON WPRTVE TOFNE
DOFF ﬁ@@dﬁa& 3Re0RIT?

89. |
®) 0]
—1,
' o
- _T_ —_— !
B C o O
O 0]
A Problem Figure
Too, B
o | 0
0]
(@) O
1) 2) 3) 4)
R
90. \\ o o
\ 0] 0]
\>/
\\\ ¢ O o)
N o o)

Problem Figure
Too, 3

o o o o o O
O O
1) 2) 3) -4
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11.

12.

e.-az;z@rm?ﬁ BRWIND

. wbei Eepielelaratolele! 3§€®$€ 83 TY, TIFODY TNQBINT, TOOTT WPemo OIIWRTIE TEd AQRTI,

QTH WOINTR, TOeFRIFI,. DT 0IPYT[e TRER FOWWWOTY VT, LoOTNL eT T,
TVRFODT, BHODTZT),

AR L.057.s0%. (OMR) v0g0 @83 wrsrieortdm, 90 TIPS T, THHFODTZY, TR AeFINT.
£.0537.50°. (OMR) e838 SNDTRTY Fe9T0T/ 20 [Ip&ENTR, (FR0T3 Bosd, TOeTY |G,
don, TSR NG, B[NF, cﬁééo% mésé %é(% QZR,0) AOCIPN RIIA @cﬁ%é ROWORAT WOINYTY,
B020YT (BeT® TPBRW).

PUY JJMED FWYO, Jde TI T 2.0 WOTAT.

BOeTR WRHORY,

* B3 TN, WNCHTZWOT LOD.

* B8 TR JCBOONTT Ty, YVITNY Fys BOOIIVT LVITI/I), FOW SBEWD.

* L.o37.50°. (OMR) Dousg =8 I3, B0t O BROWT LLITII), MHTISTELD ICBERNTOT TOL,
BBNY Fyd FO0IPT LWITT B IR, /BT ToOWOH LS TOWOLT HIF T[T, YOTO3LENA
B &,

* 9Oz : 20 3¢ TJOD O WETH) 3, F0. 3 SN .26, (OMR) =hesng 3, "o. 20 T =0T
83 0¢d Qe /B LS® TWOWOLT BT YVTASRENK BIII, OB TRWRHI. 83 3P SRCOATOT
FOTREIF TN 002023,

200D @ @ @ (3T YTRBTT WII)

2,00 TI R YOFTTON wOTEOT Tk, VIR, MW IPRTY WOTH YLITNET, TVOW TOMES
WOTNFI), AT VIO,

w3 FORTYN NS, T3, TWATODY JeBSONT.
£o.2337.0°. (OMR) @he33g Ants ﬁ@@éd@’ VBHF TN TR eTITY ITTe Bl BITLER.
TOEFY BIY TONT JOTT YOZOIT £.237°.850". (OMR) ez, 38R edpssson STTe LBTITW,

. Toegy BRTRSRYR, TWLOBSEWT, BRSLT BHTDOEIOND, (VT FTTRT YOTITLNT),)

QT IRCQAT.

.037.50°. (OMR) S08IR, 98¢ ST BRIIND :

* B3OSR0 TI NP 20T WO FOCINPT YOFTLTIT.

* QY BINTR), VeD/FT) WS” TOWOW® FITAOT [IT, B0, YITIT), JOWT e WTOBLD
BoDbFedeR.

* 3 TNYYTOB 5093571% plaolefelct BBV, FOTREVF N B0 WER (JeT TPBLE®). aqdae YOZTTI),
3o BRRT NS WTUVCNIL BHFTINY.

* QT TEBOD e e3ed 03PR)TIe DeSOD TOTLBD/NeEER BP0 0303510 [PWLIITT.

YT TEFONY TOWWTB RT BRCTNY e 0IPFTE MOV BRBITZ Q.

Note : English version of the instructions is printed on the front cover of this booklet.




